Table 1 - Exploration Target of individual TREO + Y,03

TREO + Y,0; 400 %

REO-LIGHT = 363 % REO-HEAVY = 0.17 % Y505 = 020 %
La;0; | CeO; PrgO1; | NdxO; | SmyO3 | Eu0s | Gdy,O3 | ThsO7 Dy,03 Ho,03 | ErO3 Tmy03 | YbyOs Luy03

% % % % % % % % % % % % % % Y205 %

1.048 | 1.714 0.177 0.604 0.085 0.024 0.062 0.008 0.038 0.007 0.016 0.002 0.011 0.001 0.202

TREO + Y,0; 500 %

REO-LIGHT = 454 % REO-HEAVY = 0.21 % Y505 = 025 %
La;0; | CeO; PrgO1; | NdOs | Sm;O3 [ Eu0s; | GdO5 | ThsO Dy,03 Ho,03 | EryOs Tmx03 | YbyO3 Luy03

% % % % % % % % % % % % % % Y203 %

1.310 | 2.142 0.222 0.755 0.107 0.030 0.078 0.010 0.047 0.008 0.020 0.002 0.013 0.002 0.253




